O EACTRS HP Board Class 10 Maths Model Paper

Model Question Paper
Class- Matric
Time: 3 Hrs Subject-Mathematics M.M: 85

Special Instruction:

1. IO SR-GRTHT & J&T T8 B SR I 3R Ry 19 99 3§ g9+
WS eraey fafaw |
You must write Question Paper Series in the circle at top left side of title
page of your Answer-book.

2. 99 & SR qd 999 Sl 9T U939 R QU T8 8, Sak—gRaa®
WR T8 e foraer sFfar B

While answering your Questions, you must indicate on your Answer-book
the same Question No. as appears in your Question Paper.

3. IR YRa®T & da § @il g=IT /9= 7 BT |

Do not leace blank page/pages in your Answer-book.

4. it g IO g

All questions are compulsory.

5. UT% YR IR IRABT B € § Horre P |

Graph paper must be attached in between the Answer-book pages.

6. NI drel YAl B i rfard 71

Drawing the diagrams of Geometrical questions is compulsory.

7. 39 T ¥ 34 U B AR QWU A, 9, T TAT & A SIST TAT B | WU
e T 1 W 10 TP TP T 1 3 aqTel, WUS—q U 11 q 17 TP 2 APl
qTel, WUS—¥ Y AT 18 | 20 TP 3 APl dTel TAT WUS—< Y G&AT 30 |
34 TP 5 3Pl T T B |
Question paper consists of 34 questions divided into three sections A,B,C
and D.Section-A from question no 1 to 10 of 1 mark each, Section-B from
guestion no.11 to 17 of 2 marks each, section-C from question no. 18 to 29
of 3 marks each and Section-D from question no 30 to 34 are of 5 marks each.

8. I B YT B I PIFT |

Rough work should be done alongwith the question.
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()
(Section-A)

1 3F qrel g
All Questions carries 1 mark each.

91 12, 15 T 21 &7 H.C.F. S B |
@ 3 (b) 5 (c) 7
Find the H.C.F. of 12, 15 and 21
@ 3 (b) 5 (c) 7

y2 f3u] Igus & YRS o e T
(@ 4 (b)y 2 (c) 3
Number of zero's in quadric polynomial are
(@ 4 (b) 2 (c) 3

U3 szyﬂﬁaﬁz_;i%a’rmmwm,
@ Daawd (b)) s (C) BE AE

. . . ..al _ b1 . :
In pair of linear equation if % * 0z then system of equation will be

@) Exactly one sol. (b) Infinite sol.  (c) No sol.
g4 fafdasr D=........ - 4ac

@ ¢’ (b) X @pill b’

Discriment =, . - 4ac

@ ¢’ (b) % () b?
g5 R Aoft # nai U a=....... + (n-1)d

@ b (b) a ) X

n™ term of an A.P given a, = ...... + (n-1)d is

@ b (b) a () x
U6  URANIRE W & AR (3)° +...... = (5)
@ @ @® @O @ (@7
According to Pythagorus Theoram (3)? +...... = (5)
(a) (4_)2 (b) (1) (c) (2)?
g7 =R 2ol 10, 5,0, ...... § SWTET Ug BRI ?
(@ 3 (b) -5 () -2
InAP.10,5,0, ...... next term will be
(@ 3 (b) -5 () -2
U8 Wd AP A Sin%0+ ......=
(@ tan’® (b) cot’® (c) cos’d
In Trigonometric identity Sin“0 + ...... =
(@ tan’@ (b) cot’® (c) cos’d
79 N g0 o ot Y@ S e fargel wr wed wwd R
@ 1 (b)y 2 (c) O
A tangent to any circle touches it how many points
@ 1 (b) 2 (c) O
Y10 el BT AR &1 A
@) %n r?h (b) gn 2 () mr
Volume of sphere is

(a) %nrzh (b) gnr2 (c) gnrs‘
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(9
(Section-B)

2 3% qrel Ue
All Questions carries 2 marks each

A1 156 DI MY [OHETS] & OHhA & W4 H Fad B |
Express 156 as a product of its prime factors.
17
12 g @I 391 oel fawres ufpan fee sas & I |id g9R 2 a1 srid |
Without actually performing the long division, whether % has terminating
decimal or non terminating repeating decimal expression.
713 x%*-2x-8 §gUS B YIS A N |
Find the zeroes of the polynomial x*2x. g
14 (2,3) 3R (4, 1) fageli & 97 @ & F9 B
Find the distance between the pair of points (2,3) and (4,1).
U.15 I fagen & fadenes o o) S fasget (-1, 7) 3R (4,-3) 9 o™ ame varEs a1 2:3 @
U # fRRIa wvar 1
Find the co-ordinates of the point which divides the join of (-1, 7) and (4,-3) in
the ratio 2:3
916 Sin60° Cos30%+ Sin30° Cos60° & M S &R |
Evaluate Sin60’ Cos30° *+ Sin30° Cos60’
17 I P(E) = 0.05 8 o 'E' &I & WR¥awdr S HT |
If P(E)=0.05, What is the possibility of ‘not E’?
WRT— ()
(Section-C)
3 3% qTel Ued

All questions carries 3 marks each.

U.18

U.19

2X243X+1 BT X+2 WA BT |
Divide 2x%+3x+1 by x+2

=1 e wiraRer T 1 ufoRemo A ¥ 79 W

x+y =14
X-y =4
Solve the pair of linear equation by substitution method.
x+y =14
X-y =4
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.20

Y.21

.22

U.23

U.24

.25

U.26

.27

9.28

.29

S AP ® UM 22 Ul & ART A H R d=7 & T 2201 U 149 B

Find the sum of first 22 terms of an A.P. in which d=7 and 22nOI term is 149.

_ 3
aﬁslnA:Z,cosAﬁWtan A ST B |

3
If Sin A :Z Calculate Cos A and tan A

CosA 1+SinA

Trsma T oo, = 2 Sec A wdufie fig 7|
. . CosA 1+SinA
Prove the identity 355777 + CosA 2 Sec A

39 e &1 ehe 91 9 fored W (2, 3),(-1, 0TI (2-4) B

Find the area of triangle whose vertices are (2, 3), (-1, 0) and (2, -4)

10 m & T i R e W 4 | 8m Sas W Red ta Ragal d& dgadt
2 R @ R | 9 B e RR & 8 sa w0

A ladder 10 m long reaches a window 8 m above the ground. Find the
distance of the foot of the ladder from base of the wall.

WWRGAINTAI IR IS5 cm QI R & gd TR W Y@ P! @918 4 cm 2| I
EIRE ST ISR

The length of a tangent form a point A at distance 5 cm from the center of the
circleis 4 cm. Find the radius of the circle.

7.6 cm U@ YETEvS HifRY| S 5:8 U F i FIRT | @ ArT 3 wifg |

Draw a line segment of length 7.6 cm and divide it in the ratio 5 : 8. Measure each part.

PN PR & T IEWR FH ArBIRT 8 B | TP TR & IRT &) &8 25 cm
q 415 @ DIV 6 HHE X GGl & | IR B ThS §ER T &% 91 DI |

A car has two wipers which do note overlap. Each wiper has a blade of length 25 cm

sweeping through an angle of 115°. Find the total area cleaned at each sweep of the

blades.

Gl ¥ BRI AT B &%A A1 DG A % 0 Tk

I DA Jai I U SARE 7 cm T 14 cm B
@1 /A0B =40°

Find the area of the shaded region, if radii of the two

concentric circles with centre Oare 7cm and 14 cm
Respectively and /AOB =40°

TP U B Th 1 BT oidl & fAr=iforRad &7 urg &R &1
TR S HIfoTg |

(i) T 3MTSg |1 (i) To fawH e
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O [
A die is thrown once. Find the probability of getting.
(a) Prime number (b) an odd number.
WRT—(3)
(Section-d)
5 3l drel U

All questions carries 5 marks each.

U300 TP AUASR Wd B fJHef SHS BT Yo 9§ 60 Hiex i@ owm 2| Il §
HolT BT oIl & 30 WX s & O Wa o 4oy od PG

The diagonal of a rectangular field is 60 m more than the shorter side. If
the longer side is 30 m more than the shorter side. Find the sides of the
field.

U31 TP USked B RIER W TP 1.3 Hiek A Jfd it 8 9 & v& fag & fd &
RRER &1 S BT 6o’ & 3R S g © Usted & RER &1 ST B0 45
B | TS B HAE AN DI |

A statue, 1.6 m tall stands on the top of a padestal. From a point on the ground,

the angle of elevation of the top of the statue is 600 and from the same point the

angle of elevation of the top of the padastal is 450 . Find the height of the
padestal.

732 IR B o o o & THiaR I Q1 o & -2 fagel W ufiees
X @ T e Y Wi S A 3 e | et 3 ey Rl B

If aline is drawn parallel to one side of a triangle to intersect the other two

sides in distinct points, the other two sides are divided in the same ratio.
¥33  HA 6 cm, 8 cm AR 10 cm ERl I o1y & T I Mol d1 RAeer &= @

ST S AT SR T § 9 T @t Broan ga Hifg |

Metaltic spheres of radii 6 cm, 8 cm and 10 cm respectively are melted to

form a single solid sphere. Find the radius of the resulting sphere.

https:fbyjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

_____________________________________________________________________
EBYJuU's

The Learning App

u34 A Ry g §e7 v denr & 30 el & wR <9t <@ 21 it 9w wR Ta

PITT |
TR (M) o 40—45 |45-50 | 5055 55—60 60—65 65—70 70-75
e & we 2 3 8 6 6 3 2

The distributions below gives the weights of 30 students of a class. Find
the median weight of the students.
Wt (in KQ)

40—45 | 4550 | 50—55 55—60 60—65 65—70 | 7075

No. of Students

2 3 8 6 6 3 2
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